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Section type: Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505253
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 7155054132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
LetA=4{2.3.4} and B = {8, 9. 12}. Then the number of elements in the relation

R = {((ay. by). (a;. by)) € (A x B, Ax B) : a; dnvides b, and a, dvides by j1s
Options:

71550513071. 1.
71550513072. 18
71550513073. 24

71550513074. 36

Question Number : 1 Question Id : 7155054132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OFTA={2,3,4) 9yl
R = {((2;. by). (a~. b;)) € (A x B,A x B) : a,. b, B! faHIfold &l g Ul

= {8,9,12} § | dl ¥ay

a5, by I TAUTRSId ®Xa1 ) § 3fagal &1 =01 3

Options:

71550513071. 1.

71550513072. 18

71550513073. 24

71550513074. 36

Question Number : 2 Question Id : 7155054133 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LﬁTJSl_‘:IE[

Options:

71550513075. &

71550513076. 16

71550513077. 532

71550513078. 64

T T

32

l

, then —

6

(ﬂ — 14)3 1s equal to

"-nl

i e o2
):g]tﬂﬂ X _ﬂ_gtan X :I{]' \

o

~
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Question Number : 2 Question Id : 7155054133 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qS =dxe| =, 2 |.grtarx  gtanx _ I{}1 qyl
L 272 |
,{i:ztanl(%] %ﬂ%(ﬁ—m)lwm%
XES \ ) |

Options:

71550513075. &
71550513076. 16
71550513077, 32

71550513078. 64

Question Number : 3 Question Id : 7155054134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_ 2z2-31 . | . B .
Let S= {z=x+iy: = is a real number . Then which ot the following 1s NOT correct?
I St 4 -

Options:

71550513079. x =0

(=33
ye| - *5-__. U _—..,‘T.'
71550513080. L. 2) \ 2
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71550513082. . 2/

Question Number : 3 Question Id : 7155054134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L T RTINS . U% aRafde Sem g | | O 9 ¥ & 91 g8l 78l 8

Y Adz+ 2

Options:

71550513079. x =0

' 1Y (] Yy
_I-FE[—I-',.—— U P
71550513080. .

2 2
YP+XT+ Y #E——
71550513081. 4

(x.»)={ 03]
71550513082. \ “ .

Question Number : 4 Question Id : 7155054135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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5]

l

It A= 0!
o 8L

[

Options:

71550513083, 21

71550513084, 26

71550513085, 214

71550513086. 2°

6! 7!
7t 8t | .then |adj(adj(2A))| is equal to
a! O!

Question Number : 4 Question Id : 7155054135 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

El
_ 1
e A= 6!
51 6! 7!
7!

Options:

71550513083, 2-1

71550513084, 29

71550513085. 21~

71550513086, 2°

6! 7!
7 8!| &4l |adj(adj(2A))| WeR &
g§! 9!

e E Maismnemdioanwm Tal ¢« " TAEREEAEAADLE Mz anmbdioanm Trievam o

RAMFM Mumbimnvm ClascFflisncs « Wnes T
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eight persons are to be transported from city A to city B in three cars of ditferent
makes. If each car can accommodate at most three persons, then the number of
ways. in which they can be transported. 1s

Options :

71550513087. 360

71550513088. 1120

71550513089. 1680

71550513090. 3360

Question Number : 5 Question Id : 7155054136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(15 Y=g &1 dH BRIE 318 oyﬁhﬁi'aﬂ%?_m YEIB A 98l afe
TS R H SMfEHdd di- fad 98 I5d &, d1 o1 Afaddl &l o 5 & dsldl
& G 5

Options:

71550513087. 360

71550513088. 1120

71550513089. 1650

71550513090. 3360
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Question Number : 6 Question Id : 7155054137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the coefficients of x and x* in (1 + x)® (1 — x)% are 4 and —5 respectively, then
2p + 3q 18 equal to

Options:

71550513091. 60
71550513092. 63
71550513093. 66

71550513094, 69

Question Number : 6 Question Id : 7155054137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(1+x)° (1 -x)3% x AU +? & T[OND HH: 4 TUT-5 €, T 2p + 3q IR &

Options:

71550513091. 60
71550513092. 63
71550513093. 66

71550513094, 69

Mivncdiarm RAMisvmalamav « T Maractiam Ta « TAEENAEAAD0 Musnancdtimnrm Tuirrma « RACMA Mundinm ClhhaiiFflivnce « VVAane T
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot e B L3 : . i s
Let the number (22)°%% + (2022)* leave the remainder o when divided by 3 and p

when divided by 7. Then (0 + I:'.!rij is equal to
Options:

71550513095. 3
71550513096. 10
71550513097. 13

71550513098. 20

Question Number : 7 Question Id : 7155054138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{1 (22)°%%2 + (2022)% 1 3 I fAUIFSTd B R AYB o § TUT 7 F fauford
B R AYBS Pl dl (o2 + p2) TR ©

Options :

71550513095. 5
71550513096. 10
71550513097. 13

71550513098. 20

NDuestinn Niimher * R Diestinn Td - 7158580541320 NDiie<stion Tvne * MCO Onftinon Shiuifflinn - Yecg Tg
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 5, =4+11+21~+ 34+ 50+ .. ton terms, thenL(S:qi — 51})i5 equal to

o0
Options:

71550513099. 220
71550513100. 223

71550513101. 226

71550513102, 227

Question Number : 8 Question Id : 7155054139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Hﬁ(sﬂ=4— 11+21+34+50+ ... 0 I-=|d:|' Gz %,?‘ﬁ%[ﬁw —S,l,] G R E %
=y \" 2 ;

Options:
71550513099. 220
71550513100. 223

71550513101. 226

71550513102. 227

Question Number : 9 Question Id : 7155054140 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let o) =f(x)*f(1-x)and [ (x)>0,x€(0.1). f g is decreasing in the interval (0, o) and increasing i the

a4l
+ lan

/
1
\ & ) . a

nterval (q, 1), then J[.El[l_{ (2[1“ ) lan 15 equal to

Options:

S
71550513103, 4

E¥s
71550513104, 2

B3
71550513105, 4

71550513106. T

Question Number : 9 Question Id : 7155054140 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0T g(x) = F(0) = F(1 —x) AU £ (x) = 0, x € (0,1) B | TS ¢ S (0, @) H

SIOHM © aUT HaRId (o, 1) HaUH g, dl
r” 1 \

, (a+1}

SRICEE

+ tan
X/ a

tan” (2¢ )+ tan”

Options:

ST
71550513103. 4

k¥
71550513104, 2
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Ix
71550513105. 4

71550513106. T

Question Number : 10 Question Id : 7155054141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( \ 2x W< : Ax ’ X
= . X e 1 x) | [ e
PDI‘{I,JE}:,!?DEM: lfj ‘_ } _|_(_J iﬂg{.x ax = [ J ] 4+
ah\ é 48 1

— |
. Where € = Z = and C 1s constant of integration, then o + 20 + 3y — 406 1s equal
~ n!
fo

Options:

71550513107. —8
71550513108. —4
715505131009. 1

71550513110. 4

Question Number : 10 Question Id : 7155054141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X

e X \OX
1(xY [ e =
l0g,. x dx = —(—J ——(i] + %

% - Y 'lr"( 8 lT ‘r.?
0. B.9,5eND] mmqj|i)-%i
| ale.

I.\jfﬂ |

)

. o '
Wele= ) — qUIC UHIHTH SR B, T o+ 2p + 3y — 43 WK 8

‘ nl
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Options:

71550513107. —8

71550513108. —4

715505131009. 1

71550513110. 4

Question Number : 11 Question Id : 7155054142 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let f be a continuous function satistying I[ f [ ,‘] i ) Ay =

[ .2
A T \IL_
f | — |is equal to
\ 4 )
Options:
3[ 72 )
% I-l'_—
/1550513111. Iﬁ»’

/71550513112, 16 /

715350513113,

71550513114, & 10

4 3

—
2

I
=
1 i

HJR
| 14—
16 )
i 3
dl

Wt>0 Then

~
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Question Number : 11 Question Id : 7155054142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

{2
|
HHIMmﬂdnmwad%ﬂ“; v)+x° ).:.a"r—i  yrsoeldl f "y
| Jr
SEE B
Options:
1( El”\
- 14—
71550513111, 16
f 2 )
2 7T
Tl _
71550513112, . 10

JTJ 3
-7| 14—
71550513113, 16 /
(3
..rr{l :
71550513114, 16 /

Question Number : 12 Question Id : 7155054143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let A be the point (1, 2) and B be any point on the curve x* + 1 = 16. If the centre
of the locus of the point P, which divides the line seement AB 1n the ratio 3:2 is the

point C (o, p), then the length of the line segment AC 15
&collegeduniaﬁ

S

Options:




35

71550513115,

245

71550513116. 2

4+/5

71550513117. 3

65

71550513118,

Question Number : 12 Question Id : 7155054143 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wﬂﬁg(l 2) AU TP «* +)7 = 16 R DI f[dg B ¢ 1 Ai¢ X1 TS AB T

2F 3T 1 fguiford o3 ae fig P& guU 1% C (o

AC GRS
Options:

35

71550513115, 3

71550513116, 2

71550513117. 3

71550513118.

. B) &, Al TGRS

~
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65

Question Number : 13 Question Id : 7155054144 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a circle of radius 4 be concentric to the ellipse 15x% + 19y = 285, Then the
common tangents are inclined to the minor axis of the ellipse at the angle

Options :

71550513119. 3

71550513120. 4

T
71550513121, 6

T
71550513122, 12

Question Number : 13 Question Id : 7155054144 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT (24T 4 BT TP G dUT SUgT 15¢7 + 197 = 285 bzl & | S5 W
AT Sead o Y 318 T BIH 1 HI0 -1l 52

Options :
ira
71550513119. 3
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s
71550513120. 4

T
71550513121. 6

L.
71550513122, 12

Question Number : 14 Question Id : 7155054145 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the image of the point P(1, 2. 6) in the plane passing through the points

A(1,2,0).B(1.4,1)and C (0. 5, 1) be Q (c. B, 7). Then (a= + B~ + ) is equal to

Options:

71550513123. 6.
71550513124, 63
71550513125. 70

71550513126. 76

Question Number : 14 Question Id : 7155054145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T {3t A (1.2, 0), B(1. 4, 1) YT C (0, 5, 1) Y BIH 91 alct AAA | fdg

P(1.2. 6) PIUMAfGd O (0. B. M B Al (o2 + B2 + ) RS &
gcollegeduniaa
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Options:

71550513123. 6.2
71550513124, 65
71550513125. 70

71550513126. 7

Question Number : 15 Question Id : 7155054146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

x 6-y z+8 . r—5 y=T7 z+42
l

Let the line — = = intersect the lines - = = atid

1 , 5 4 3

x+3 3-y z-6 : . . =
: : — = ) '1 - at the points A and B respectively. Then the distance of the

mid-point of the line segment AB from the plane 2x -2y +z=141s

Options:

10
71550513127. 3

11
71550513128. 3

71550513129. 4

71550513130. 3

Question Number : 15 Question Id : 7155054146 Question Type : MCQ Option Shuffling : Yes Is

H--_-_L:_.-.-. l.-.-.-._.-..h_.----- l._— F-I_--I_L._.--- ‘I_-.-.-. H _______ ':._—_._. - ‘I l 'L:_I- ':.—_—_-_. il ‘.I n l.=-.—=-.--.---.--.
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s Y y— 1V Oz — 5 - z+ 2
o o0 28y xS _y-7_z+lgy
‘ 2 5 4 3 |
Y4070 270 P gl AT B RO £ TIYERES AB &

6 3 l
neg fog ol gude 2x — 2y +z =14 U A §
Options :

10
71550513127. 3

11
71550513128. 3

71550513129. 4

71550513130. 3

Question Number : 16 Question Id : 7155054147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Letg =2j + j,fl}“_ k. b=3i +5kand ¢ = ; - } + 2k Let  be a vector
which 1s perpendicular to both 7 and j. and ¢ . 4 =12 . Then

(—f +j—£)-{t¢3=< ﬂ"} is equal to
Options:
71550513131. 24

71550513132, 4.2

71550513133. 44
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71550513134, 48

Question Number : 16 Question Id : 7155054147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=27 47 ~4,6 =3 + S G =] — 4 2 B TSR G
h & dddd Eﬁiﬂm& gaUl s.4=128ld (—f+}—ﬁ;)-[_ﬂc';=: d) TN ©:

Options:

71550513131. 24

71550513132. 42

71550513133. 44

71550513134, 48

Question Number : 17 Question Id : 7155054148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[f the pomts P and Q are respectively the cireumeenter and the orthocentre of a AABC, thenpa + pR+ pC 15
equal to

Options:

71550513135, 2QP

71550513136, QP

]
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71550513138, 2P Q

Question Number : 17 Question Id : 7155054148 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

¢ Ush FAYS ABC & URP= aul dad—= UL PAUIQR. A pA + PB + PC
SRGEES

Options:

71550513135, 2QP

71550513136, QP

71550513137, PQ

St

71550513138, 2PQ

Question Number : 18 Question Id : 7155054149 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let a dig be rolled n tiumes. Let the probabulity of getting odd numbers seven times be equal to the probabality

A

of getting odd numbers nine times, If the probability of getting even numbers twice 1s - then k 15 equal to.
-} 4

Options:

71550513139. 15

a
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71550513140. 30
71550513141. 60

71550513142, 90

Question Number : 18 Question Id : 7155054149 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

01 U& U & » 9R ] oidl & | 91 91d §R 990 %01 Urg &3 &1
e dr. A1 IR {90 T3 UId &3 &1 Wiidddl & av6s ¢ | 9ic &l aR 99

| . ¥ 5 o
T3] Ut H3- D Wi ——= 8. dk Fa o
‘? =

Options:

71550513139. 15

71550513140. 30

71550513141. 60

71550513142, 90

Question Number : 19 Question Id : 7155054150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Let u be the mean and (5 be the standard deviation of the distribution

where Z j; = (2. If [x] denotes the greatest integer < x, then [;:3 + r,:r:] 15 equal

o

Options:
71550513143. 6
71550513144, 7

71550513145. &

71550513146. °

Question Number : 19 Question Id : 7155054150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT §eA

&Y f =628, PTHH w AU HAS R o §1 MR [x) HETH g < x
5 ?ﬁ[,u: +{T:] R ©:

Options:

71550513143. 6

71550513144, 7

71550513145. &

]
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71550513146. 9

Question Number : 20 Question Id : 7155054151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The statement ~[ pV ( ~ ( p A g ))] 15 equivalent to

Options :

71550513147, (~(pPAg)) Ag
71550513148, ~ (P V ¢ )
71550513149 . (P Ag )A( ~ p)

71550513150. ~ (P A q )

Question Number : 20 Question Id : 7155054151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FUT~[pv (~(pAg))] [ FAT T

Options:

71550513147, (~(pAg)) Ag

71550513148. ~ (P V q)

71550513149, (P A g ) A( ~ p)
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71550513150. ~ (P A q )

Mathematics Section B

Section Id : 715505254
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505254
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7155054152 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f I':I .
If the domain of the function f (x)=sec” l =
S+3

is[a,B)U(7y,8] then ‘3u+ﬁﬂ(ﬁ+}r}+2]ﬁ‘ 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Tavéd Avaae » DIAainTavt
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Possible Answers :

10

Question Number : 21 Question Id : 7155054152 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5x+3

. o

Hﬁw:r_f{x):aecl[ g -xlﬁmuﬂ[ﬂ.:ﬁ}U{?fﬁ]%,ﬁ

SRICEES

3o+10(B+y)+218

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054153 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let S be the set of values of A, for which the system of equations
6ix — 3y + 3z =407,

2x +6Ay +4z=1,

3x + 2y + 3/z = A has no solution. Then I zz

AES

Al is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 22 Question Id : 7155054153 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTT 2. @ HEL, oS [0 JHIBR0 Hahrg
6ix — 3y + 3z =43~
2x +6ly +4z=1,

3x +2y+3kz= ). DI BI5 od ol 6. DI dH=U S gl dl I‘?‘Z
AES

A

e ©

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054154 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The sum of all the four-digit numbers that can be formed using all the digits 2. 1,
2, 3 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054154 Question Type : SA Calculator : None

a
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Correct Marks : 4 Wrong Marks : 1
T 3Pl 2, 1,2, 3 & WA U 4 3P| Bl G415 ol Yoo aTel] YT Tvearafi &1 gi

3

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054155 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Suppose ay, a», 2, a3, a4 be mn an arithmetico-geometric progression. If the common ratio of the

corresponding geometric progression 15 2 and the sum of all 3 terms of the arthmetico-geometric progression
. 49 .
1s —, then ay 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054155 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O ay. a.. 2. as. a; U6 GHIGR-[0MR 4071 51 Tfd H91d T0MR 4olt &1 94
SO 2 B U1 GHR-uiR 9ot & ot s v e am 228, i@, R E:
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Response Type : Numeric




Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054156 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the quadratic curve passing through the point (1. 0) and touching the line

v=xat (1. 1) be y=f(x). Then the x-intercept of the normal to the curve at the
point (o, « + 1) in the first quadrant 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054156 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1T fdg (-1, 0) F B1ehR W aTell aUT X@M y = x DI (1. 1) T WY S dTel
TGUI a v = £(x) | O WYH IqUI H 6 (0, 0 + 1) W T D T DI -
Hd-ES &

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areac< * PlainText
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Possible Answers :

10

Question Number : 26 Question Id : 7155054157 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
<y<x}isA, then 6A +16+? is equal to

. : >
If the area ot the regton {(x, y) : [x"— 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054157 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O 87 {(v.y) 1 2 —2| <y <x) PIETBAAT. Al A + 162 TR o

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155054158 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




Let the tangent at any point P on a curve passing through the points (1. 1)

l . " : ; .
and [ T 100 1. intersect positive x- axis and y-axis at the points A and B
\ /

respectively. It PA : PB = 1: k and v =y (x) 1s the solution of the ditterential

dy _
equation E}T{ — kx + i . y(0) =k, then 49(1) — 5log.3 is equal to

2

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155054158 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

qTT T§g34f (1, 1) Tl [%,mu]@s‘lm{ ST aTdl U aeh o [l [ag P UR T
G YD x - Ul y - & DI HHY: f6g3ll A U B IR Pl Bl

dy |
af% PA : PB = 1: k & YT 3f@hW THIERU ,dv — ko4 X, v(0) =k PIEA
2

vV =V(X) % di 4v(1) —5log.3 dxldx E
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054159 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




Let the equations of two adjacent sides of a parallelogram ABCD be

2x — 3y =-23 and 5x + 4y = 23, [t the equation of its one diagonal AC 1s

3x + Ty = 23 and the distance of A from the other diagonal is d. then 50 d- is equal
o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054159 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

01T U HHIAR Iq4o &1 &l Gad YollHi &
JUIHR0T 2% — 3y = —23 TUT 5x + 4y =23 § | TG 5D U fdbu] AC FT
THfiBR 3x + 7y = 23 T AU A BT G APV A d 8, a1 50 2 R &

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054160 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the foot of perpendicular from the point A (4, 3, 1) onthe plane P x-y +2z+3=0be N. It
B(5, a, p), o p € £ 15 a point on plane P such that the area of the triangle ABN 15 3,7 , then o+ ﬁz +of 15

&collegeduniaﬁ
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equal to

Resnonse Tvne : Niimeric




Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054160 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O fig A4 3. DY YHAAP : x—y + 22 + 3 = 0 IR 311 71U 0d BT UIE N B
qi¢ A P R UD [dg B(5. . ). 0. p € Z 39 UPR © [& [HYST ABN FI
gA%d 3.5 ©. dl o + B* + of SRIER o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054161 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L

In the figure, 6; + 6, = — and /3 (BE) = 4(AB). If the arca of ACAB is 2,/3 _3
0,

unit”, when ETH 1s the largest, then the perimeter (in unit) of ACED 1s equal to
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054161 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Mo T -
dl 5 3MPId H 8; + 6, = - TUIY/3 (BE) = 4(AB) 81 Ul ACAB Tl 4B

13 3T 5P 8, §E 5= 3fUHdH 8, dl ACED B1 URHT (3PTg H) SRIR

8!1
3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
Section Id : 715505255
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Enable Mark as Answered Mark for Review and
Yes
Clear Response:
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Sub-Section Number: 1

Sub-Section Id : 715505255
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 31 Question Id : 7155054162 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The distance between two plates of a capacitor 1s d and 1ts capacitance 1s Cy. when

X . . 2d
air 18 the medium between the plates. It a metal sheet of thickness -T': and of the

same area as plate 1s introduced between the plates. the capacitance of the
h .
capacitor becomes C,. The ratio —= 1s
,.]

Options:
71550513161, 1:1
71550513162. 2:1

71550513163, 2:1

71550513164, 4:1

Question Number : 31 Question Id : 7155054162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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U YTRA Dl Wicl & & DI g1 d &, U9 o9 uieal & aid & 1998 a1 & ol 39!
ifar ¢4 g1 afe @icl & ga &% U ? HieTs ardl U e1fcde ugl
YT B wicl & dig @1 Sl g, d SuTia @t 91idr ¢, g1 Sl g1 3Hard
C, a

E‘T%'

Options:

71550513161, 1:1

71550513162. 2:1

71550513163, 3:1

71550513164, 4:1

Question Number : 32 Question Id : 7155054163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a periodic motion represented by the equation
y = sin @t + cos wt

i o

the amplitude of the motion 1s
Options:
71550513165. 0.5

71550513166. 1

71550513167. 2

71550513168. 2
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Question Number : 32 Question Id : 7155054163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U 3{1guil TTidd, THIBR y = sin wt + cos et GRI (S0 g | Tid DT SATAH B

Options:

71550513165. 0.3

71550513166. 1

71550513167. 2

71550513168. 2

Question Number : 33 Question Id : 7155054164 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A gas mixture consists of 2 moles of oxyeen and 4 moles of neon at temperature T.
Neglecting all vibrational modes, the total internal enerey of the system will be,

Options:

71550513169. 4RI
71550513170. 8RI
71550513171. 11RT

71550513172. 16R1

ﬂll‘ﬂb:‘_ nll-_hau ] ﬂﬁ' n-.a-*:-_ '.J ] quEnE"‘E.‘ n.lﬁ..ﬂ*:.ﬂ._ Tl._-. ] n.rﬂ .ﬁ“-ﬁ:‘“ ELIIHI:““ L3 Uﬁ._ '-
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T AT9HA U= [l TG feor 5 2 Jid Sfiddioq Ud 4 Hid HaiF 8 | g4l
qrSi &l 490G G- IR, (HH1E & od Sidike Sl siil

Options:

71550513169. 4KR1

71550513170. 8R1T

71550513171. 11RT

71550513172, 16KT

Question Number : 34 Question Id : 7155054165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A gas 1s compressed adiabatically, which one of the following statement 15 NOT
true,

Options:

71550513173 1 he temperature of the gas increases.

71550513174 1he change in the internal energy 1s equal to the work done on the gas.

71550513175 1here 1s no change in the internal energy

71550513176 1 here 1s no heat supplied to the system
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gmﬁﬂ B B Uhd I 9Uifsd foar srar g1 Hg oyA 8 9 o 3™

Options:

71550513173, 119 DI dIUH §6dI G |

11550513174 HIRD FHoll § §31 GRad, 19 R gU DM & RER & |

21560513175 ARG FHoll H Pl URdd- ol oidl 6|

71550513176, BT DI DI ST el af ol 5

Question Number : 35 Question Id : 7155054166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Young's moduli of the material of wires A and B are in the ratio of 1:4, while its
area of cross sections are 1n the ratio of 1:3. If the same amount of load 13 applied
to both the wires, the amount of elongation produced in the wires A and B will be
in the ratio of

|Assume length of wires A and B are same]
Options:
71550513177. 1:12

71550513178. 1:36

71550513179, 12:1

TJA1CCENE1210N 201
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Question Number : 35 Question Id : 7155054166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

dR A Ud B & Yyl & T U] BT YT 1:4 B, Slaid 390 U HIC
S El T UM 1:3 B Tle &1 dRI IR 9 YR Tl o dl &, 91 dR A
Ud B H gU YHRI 1 3UId I [HH1 dR A Ud B &1 T3] THH 5

Options:

71550513177, 1:12

71550513178. 1:36

71550513179. 12:1

71550513180. 36:1

Question Number : 36 Question Id : 7155054167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Rotation of the earth shows effect on the value of acceleration due to
gravity (g)

Statement IT : The ettect of rotation of the earth on the value ot 'g’ at the equator
15 minimum and that at the pole 15 maximum.

In the light of the above statements. choose the correct answer trom the options
aiven below

Options:

71550513181. Both Statement I and Statement II are true
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71550513182. Both Statement I and Statement I are false
71550513183. Statement I 1s true but statement II 1s false

71550513184. Statement I 1s false but statement II 1s true

Question Number : 36 Question Id : 7155054167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1= gl HyF GU U ;

YT I : J241 & YUH BT THE T3 @0l (g) D JH R ISal o

BYF 11 : 'g’ P A TR Gedl & YouiH BT JHTd, Y 3@l TR GAdH Ud ¢d TR
HTPIH BIAT B |

mﬁﬁ%ﬁﬂﬁ,%mWﬁWﬁ@Wﬁﬁmw-ﬁﬁﬁﬁ;

Options :

71550513181 DU 1T YA &l A B |

21550513187 PUAITE HYUF I HI AT B |

11550513183 DU I A § U DY 11 IFA |

11550513184 DU T HTW § W] Y11 TA B

Question Number : 37 Question Id : 7155054168 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0




The time period of a satellite, revolving above earth's surface at a height equal to R wll be

.. b, i

(Given g =7 m/s", R =radws of earth)

Options:

71550513185, vZR

71550513186. V4R

71550513187, v38R

71550513188. +32R

Question Number : 37 Question Id : 7155054168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gedl & ol § R $dlg UR, GReHHU B X5 SUUE DI Hacidid gil:

@l g = m/s?, R =l @i Ao

Options:

71550513185. v 2R

71550513186. V4R

71550513187, V3R

71550513188. +32R

collegedunia:

India’s largest Student Review Platform



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two projectiles are projected at 30° and 60° with the horizontal with the same
speed. The ratio of the maximum height attained by the two projectiles
respectively 1s:

Options :

71550513189, 1:3

71550513190. 1 :+/3

71550513191, 2:3

71550513192, v/3 : |

Question Number : 38 Question Id : 7155054169 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&ifast T 30° T4 60° & D10 UR I W& GaH 97a 4 Haiftd feu Srd 8|
SHOSE: YA gRT U 3ffYeay 3ar2dl &1 3=41d &:

Options:

71550513189, 1:3
71550513190, 1:+/3
_

71550513191, 2:+/3

71550513192, V'3 :|
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Question Number : 39 Question Id : 7155054170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an experiment with vernier calipers of least count 0.1 mm, when two jaws are
joined together the zero of vernier scale lies right to the zero of the main scale and
6th division of vernier scale coincides with the main scale division. While
measuring the diameter of a spherical bob, the zero of vernier scale lies in between
3.2 cm and 3.3 cm marks, and 4th division of vernier scale coincides with the main
scale division. The diameter of bob 15 measured as

Options:

71550513193, 3.26 cm
71550513194, 3.25 cm
71550513195, 3.22 cm

71550513196. 3.18 ecm

Question Number : 39 Question Id : 7155054170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.1 mm AETTHP aTd GHIR HiTTH & YA E, 9d g1 g 98 & df ai-ax
OHT T Y. 30 9HH & Y & <l 3R Tedl & qyl a-a% 9HH &I Fel
faUTS, T30 YA & 1Y TF91d1 81d1 81 T TTieid &I o H1d JHY, AR
UHH BT Y4 3.2 em Ud 3.3 em & §i 3G €, Td dHER UATH BT 91T faume,
0% YA & 9ITd! gidl g | el P {191 7141 o1 ©:

Options:

71550513193. 3.26 cm

71550513194, 3.25 ecm

716560513198 3.22 em

a
&collegedumaa
India’s largest Student Review Platform

S



71550513196. 3.18 cm

Question Number : 40 Question Id : 7155054171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A person travels x distance with velocity vy and then x distance with velocity v, 1n
the same direction. The average velocity ot the person 1s v, then the relation
between v, v; and v, will be.

Options:

V,+V,
v=——=
71550513197. 2

71550513198, ¥ — Y1 T V>

71550513200. ¥ Y1 Vo2

Question Number : 40 Question Id : 7155054171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
g odiodd U of faQT H x G31 v, 971 8 Ud x G31 v, 991 o8 Bl § | oiad ol
AT Tl v % L_‘ﬁ*r_. vy Eﬁl’z & did gy EﬁTﬂ

&collegeduniaa
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71550513197. 2

71550513198, ¥ — Y1 T V2

I

71550513199. ¥ Y1 V;

2 ] l
71550513200. ¥ Vi Vo

Question Number : 41 Question Id : 7155054172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time :

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements: one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : An electric fan continues to rotate for some time atter the current 1=
switched oft.

Reason R : Fan continues to rotate due to inertia of motion.

In the light of above statements, choose the meost appropriate answer from the
options given below.

Options:

71550513201 Both A and R are correct and R 1s the correct explanation of A

71550513202 DBoth A and R are correct but R 1s NOT the correct explanation of A

71550513203. A 15 correct but R 1s not correct

71550513204. A 1s not correct but R 15 correct

~

S

N.A Minimum
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Question Number : 41 Question Id : 7155054172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e &l U 4T U B, U Bl THBYT A Ud g1 ] HIRUIR Hel T |

HTHUDYT A : YRI D1 HATE §¢ D o &g Ui fdggd Ua o8 99 do gl
TEAl G|

BRI R : GAT TTid & TSed & DRUIYHAT OR| 3@ 6 |

3Ugad Bl & UHr 4, i f3u U faeedl ¥ 9 el SR I
Options:

71550513201. AUGR GHI Bl ¢ TUT A DI Hel AR ©

21550513202 A Ud R &I Jol & a4l A ®| Jol URATR 6l &

71550513203, A F6l & U R 7Tl g

71550513204, A TT0A & TR R Tl §

Question Number : 42 Question Id : 7155054173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A message signal of frequency 3kHz 15 used to modulate a carrier signal of
trequency 1.5 MHz. The bandwidth ot the amplitude modulated wave 1s

Options:

71550513205. 6 MHz
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71550513206. 5 MHz
71550513207. 3 kHz

71550513208. 6 kHz

Question Number : 42 Question Id : 7155054173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3kHz HTGI<I aTel =T 1¥Uc D1 WA, 1.5 MHz g dld di8® Ry P
Higlerd B & oy foban Sira1 81 ST Higferd ol @, §Sfdy (4 WRI) ©:

Options :

71550513205. 6 MHz

71550513206. 5 MHz

71550513207. 3 kHz

71550513208. 6 kHz

Question Number : 43 Question Id : 7155054174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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If each diode has a forward bias resistance of 25 Q in the below circuit.

I}

LH._
AV AN

+
S

L
-

which of the following options 15 correct:

Options :

L

i ]

71550513209. EE

L,
HZI

71550513210. ]3

- .
71550513211. ]4
LR

£1550513212. Il

Question Number : 43 Question Id : 7155054174 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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o feg v ooy 4. afe uds Sars &1 e 9y uidviy 25 Q §

D,
] AAW—
9 D, 7,
f—s k}
Iy D,
|
|
5V
dl Fe g9 & 91 fdeey 9al o
Options:

I
71550513209. IIE
71550513210. ]3

I,
71550513211. 14

L,

£1550513212. Il

Question Number : 44 Question Id : 7155054175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The halt life of a radioactive substance 13 T. The time taken, for disintegrating — |y part of its original mass

8
&collegeduniaa

S

will be:
Options:




71550513213. 1
71550513214. 21
71550513215, 31

71550513216. &1

Question Number : 44 Question Id : 7155054175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et Yfeafea T 3 Sigh T &1 S0 A ST & L iy M S
8

[qulcd 84 H &' 999 8-
Options:

71550513213. 1

71550513214, 21

71550513215, 31

71550513216. &1

Question Number : 45 Question Id : 7155054176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The variation of stopping potential (V) as a function of the frequency (v) of the meident light for a metal 15

shown 1n tigure. The work tunction of the surface 15

=2

[S—

Stopping Potential (Vo) volt

() | | - |
1 2345678910
o(x10 e

Options:

71550513217. 1.36 eV
71550513218. 2.98 eV
71550513219, 2.0/ eV

71550513220. 18.6 eV

Question Number : 45 Question Id : 7155054176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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fep gt &1 & Teru, HTUfcd YT Bl g (v) b Ba-d & 34 J FRIE] f[dud (V)
o1 Givad = § UaiRid 81 U1q &1 H1d B 6

/
g ;
o

E

Options:

71550513217. 1.36 ¢V

71550513218. 2.98 eV

71550513219. 2.07 eV

71550513220. 18.6 eV

Question Number : 46 Question Id : 7155054177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bar magnet 15 released from rest along the axis of a very long vertical copper
tube, After some time the magnet will

Options:

71550513221 move down with an acceleration equal to g

71550513222 move down with an acceleration greater than g

71550513223 move down with almost constant speed

71550513224. oscillate inside the tube

]
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Question Number : 46 Question Id : 7155054177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[l ggd Tiral JedleR did Bl Al § 58D & & GY, TP TS J9D D
[ORTH HT=T Y SIS WAl § | P& 9HY 91, JED:

Options:

21550513721 g @ B & SRR 01 § i (TR

J1e051309> g 9 SdIGT @0l H A TRl

71550513223, THIHI TR 91 H 919 [t

21550513224 ] @ ST Sia- il

Question Number : 47 Question Id : 7155054178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of intensities at two points P and Q on the screen in a Young's double slit
experiment where phase ditterence between two waves of same amplitude are /3
and m/2, respectively are

Options:
71550513225, 3:2

71550513226, L3

71550513227, 1:3

a
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71550513228. 3:1

Question Number : 47 Question Id : 7155054178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

a7 o Taf3rt e o o wR <1 fdigaii P Ud Q. SeT a9 31ramH arell <l alvn &
e T Pl HHR: 1/3 U4 o2 §, TR digarsdi ol 3=Uid &:

Options:

71550513225. 3:2

71550513226. 2:3

71550513227, 1:3

71550513228. 3:1

Question Number : 48 Question Id : 7155054179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The amplitude of magnetic ficld in an electromagnetic wave propagating along y-

. . __I' . a - .
ax1s 18 6.0x 107" T. The maximum value ot electric field in the electromagnetic
wave 1s

Options:
71550513229. 6.0x10°" Vm™.

71550513230, 180 Vm™

71550513231, 2x10%° Vm™?
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71550513232, 5%10'% Vm?

Question Number : 48 Question Id : 7155054179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

y-31& D AT Id 6l TP degdaadiy d¥il & Jraehig &1 P
31O 6.0x107 T 1 degd=e®iy a1 4 fAfgd faggd &7 &1 sifdedd o &

Options :

71550513229, 6.0x10°" Vm™!

71550513230. 180 V™

71550513231, 2%10"° Vm™}

71550513232, 5x10'* Vm™?

Question Number : 49 Question Id : 7155054180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : For diamagnetic substance. -1 < ¥ <0, where ) is the magnetic
susceptibility.

Statement II : Diamagnetic substances when placed 1n an external magnetic field.
tend to move trom stronger to weaker part of the field.

In the light ot the above statements, choose the correct answer trom the options
oiven below

a
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71550513233. Both Statement [ and Statement II are true
71550513234, Both Statement I and Statement II are Falze
71550513235. Statement I 15 correct but Statement II 15 false

71550513236. Statement I 15 incorrect but Statement II 1s true.

Question Number : 49 Question Id : 7155054180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 gl By feu U B
HYT I : Widgram g Uardi & fe7E, -1 < y <0, 96l x TG Hgi o

HY 11 : WdaP I Ual &f o a1l 1Y & H 391 Il ¢ <l 98 &7 |
3 digdl ard W 9 &8 digd] ard R &t 3R o &1 Udd H3d & |

SYUad YAl & g 1, A1 [T U faeedl § 9 9aiide Iuged 3R 94

Options:

71550513233, PYA 1 T4 HYF 11 I T &

J1550513234 DU I UG YA I &I ST G |

71550513235, DU 1 HH § TR~ HY 11 ST G|

71550513236, DU 1 3R § TR HU 11 TA |

Question Number : 50 Question Id : 7155054181 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o2 metallc conductor, under the eftectof applied electic feld,the free eleetrons ofthe conducto

Options:

71550513237 drift from higher potential to lower potential.
71550513238 move in the straight line paths in the same direction

move with the umiform velocity throughout from lower potential to higher
71550513239, potential

71550513240 move in the curved paths from lower potential to higher potential

Question Number : 50 Question Id : 7155054181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HRIYd faggd & o T Ui e 4, I & G gaaci-:

Options:

21550513237 39 [d4d I A9 faya &1 9% garied eid

21550513238 A S8 H TR <910 94 IR Idd 6|

15E0513939 SEIUl TTd @ GRI UHHH a7 ¥ ¥ faye 9 3= fdyd &1 % Sid g

71550513240, 9010 U & gRT (49 fa4d 9 3= [dHd B X% old & |
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Physics Section B

Section Id : 715505256
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : b

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505256
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 7155054182 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A rectangular block of mass 5 kg attached to a horizontal spiral spring executes
simple harmonie motion of amphitude 1 m and time period 3.14 5. The maximum
force exerted by spring on block 1s N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 51 Question Id : 7155054182 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 kg SOOH D1 TP HATAIDHR el T4l afdel [ & RR ¥ 56T 1 m
HTOTH Ud 3.14 s SddpIel & 1Y WA 31ad 7d B gl g1 BT gRIT[cdh |
R HIHTH §6 B A N B

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054183 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Figure below shows a liquid being pushed out of the tube by a piston having area of cross section 2.0 em*, The

area of cross section at the outlet is 10 mm®. If the piston is pushed at a speed of 4 cm s, the speed of
-1

outgoing fluid 13 Cih 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 52 Question Id : 7155054183 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A U A H, 2.0 em? DIC HADA ald U gRI A I §8 DI
IR @bl ol X6l &a YalRid & | o 0@ & Sf-WR] B o] &% 10

mm? § | O7¢ e Bl 4 em <! D I7d I Gh a1 9Idl 6. 1 9l6L o d 6 od DI
] ciml E'I@Tﬂ'[

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155054184 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A

A force of —P K acts on the origin of the coordinate system. The torque about the
of 0l s b o a. X o

pomt (2, -3) 15 P[ al + by ) The ratio of — 1s —. The value ot x 15 -

b 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

a
gcollegedumaa
India’s largest Student Review Platform

S



Question Number : 53 Question Id : 7155054184 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e yoel & Hafag R -p k 50 RIfYd 31 g (2, -3) % aRka: sl

| - o X -
F[ﬂlJthJ%'ISijl!lflgfblHl-l;%lxﬁ?I HI- gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054185 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the maximum load carried by an elevator 1s 1400 kg (600 kg - Passengers + 800

kg - elevator), which is moving up with a uniform speed of 3 m s™'and the
trictional torce acting on it 15 2000 N, then the maximum power used by the motor

15 kW (g =10 m/s?)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054185 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1

Jﬁﬁv-&ﬁﬁﬂw ZR1 IS Tl H{GHaH YR 1400 ke (600 ke : TTAT + 800 kg ;

) B, O 6 3 m & &1 UHIHH 910§ SUR 1 RP F136] &1 T W
B TyUT §1e BT 5 *nm}w%’ ol Hiex GRI Wgd SAfEday e

kW %’[g— 10 m/s”) |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054186 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electron revolves around an infinite cylindrical wire having uniform linear charge density 2x10° Cm ™! in
circular path under the mfluence of attractive electrostatic ticld as shown in the tioure, The velocity of electron

s . 4 ; : ul , -4
with which 1f 1s revolving 13 x10%m 57!, Given mass of electron = 9x10 ‘lkg

@

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1N
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Question Number : 55 Question Id : 7155054186 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NIGALR @:ﬁﬁﬁ [dggd &9 & A=ld U Saide S g didd da-dR
dR & IRl TP bR 9Y U GRPHU 61 61 8, dR IR UHHHH G Ha

T 251078 C m! B SoidglH &1 a7, [y U G HUI HR BT © 98
<109 m 571 81 (f3T1 B, SAaei- D1 SoHH = 951073 kg) |

-l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155054187 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1917 A be the lowest wav elength of Lyman series then the lowest wavelength of
Balmer series will be A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Possible Answers :

10

Question Number : 56 Question Id : 7155054187 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe AgH 4oft 1 A Rew 017 A B ol AR 4 BT A aiTed
A B

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054188 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pont object, '0' 15 placed 1n front of two thin symmetrical coaxial convex lenses Ly and L, with focal length

24 ¢m and 9 em respectively. The distance between two lenses 15 10 cm and the object 18 placed 6 cm away
from lens L; as shown 1n the figure. The distance between the object and the image formed by the system of

two lenses 1s CH.
L Ly
0
< O cm=-
[0 cm

Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054188 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 24 cm Td 9 em PIHH g3 a1t &1 Uddl FHIHA Fg-Aefiy I o,
L, HR L, & 9 U fofg 9% '0' 7@l § | 1 o & o1 &1 g2l 10 em 8. Ud
GRIL, 96 cm P g3l WGl gl aHi gl & g gRI 4 Hidfe Ud ax &

SIEE! @ cm %r |
L,

L,

0
< O cm

Response Type : Numeric

-10 ¢cm -

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054189 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A square loop of side 2.0 cm 15 placed inside a long solenod that has 50 turns per centimetre and carrics a
sinusoidally varying current of amplitude 2.5A and aneular frequency 700 rad 5. The central axes of the loap

and solenoid coincide. The amplitude of the emf induced in the loop is x * 10~ V. The value of x i3

)
(Take. T_Z )

]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054189 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2.0 cm Y A1 TS IR O, Tl wid Hetdier 50 Ui arelt uRArfeSE o
7@l g, forgw 2.5A 3119 dTell U Sarash i 4RT 700 rad s D1 S0 g d
1Y YaT(ed of Xo! & | ©X U4 URAT®T & ds1g 318 YIS § 1 IR 1 URd 8T
fdgyd die® ad &1 ™M x x 107 VE | x BI HH o

@le, n=%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054190 Question Type : SA Calculator : None

~
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A straight wire carrying a current of 14 A 15 bent nto a semucircular arc of radius 2.2 cm as shown in the

tigure, The magnetic field produced by the current at the centre (O) of the arc, 15 <107°T
> v >
O

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054190 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U TR dR o 9H 14 A ST YRTUaTRd 81 %6l 6, DI HISHR REER 2.2
em TSG] TTET 3Gt oY €191 701 § | YR §R1 914 & &5 (0) IR 3T

DY & <1074T B

> e —
O

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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10

Question Number : 60 Question Id : 7155054191 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A rectangular parallelopiped 1s measured as 1 cm = 1 cm * 100 cm. If 1ts specific
resistance is 3107 m, then the resistance between its two opposite rectangular
faces will be <107 Q.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054191 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uh AR R AR Uchdd &1 1 emx=1 em »100 em HIT] kﬂlfﬂ%l a(q =ikl
ARy UlaRIY 3x107Q m & dI S9F gl [duld JAdieR Bad! & did Pl
SIEIE| x1077 Q BT

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Chemistry Section A

Section Id : 715505257
Section Number : 5

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505257
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 61 Question Id : 7155054192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LIST II
- 16gof CHy(2) | L [Weighs 28¢

IEUIH {E} II.

Choose the correct answer from the options given below:

Options:
71550513251, A-L, B-I1I, C-II, D-IV

71550513252, A-II, B-IV, C-1, D-III
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71550513253, A-IL B-IV, C-III, D-I

71550513254, A-1L, B-1IL. C-IV, D-I

Question Number : 61 Question Id : 7155054192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 1 T 15 9t 11 F v

:: ¢ HR

I [T T fadh el § ¥ Iel SR 9

Options:
71550513251, A-L B-IIL. C-II, D-IV

71550513252, A=, B-IV, C-I, D-III

71550513253, A-II, B-IV, C-III, D-1

71550513254, A-IL, B-IIL, C-IV, D-I

Question Number : 62 Question Id : 7155054193 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegeduniaﬁ
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




The correct relationships between unit cell edge length 'a" and radius of sphere 'r'
tor tace-centred and body-centred cubic structures respectively are:

Options:

71550513255. 2 ‘\JEF =a and 4r = ‘V{EH

71560513256 FF = 2\:,2_'.{1 and 4r = ﬁa

71550513257 F = Zﬁu and '\,Ef =4

71550513258, 2 -\Er = a and Vﬁ#‘ =4

Question Number : 62 Question Id : 7155054193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BAD Blod U4 UG 3d: Hl5d 91 SRIA13H] & 070 HHI: TH S HIYHI B
DR Pl THETG ‘2 TG Td Dt T v & AT Tol TG B

Options:

L1ee0513255 2 V2r =a and 4r =3a
71550513256 F = 2-\_?5(1 and 4r = ﬁu
71550513257, F = Zﬁu and \Eﬁ =4

71550513258, 2 \,i'ir: a and \@" =4q

Question Number : 63 Question Id : 7155054194 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ferric chloride 1s applied to stop bleeding because -

Options:

71550513259 F€Cls reacts with the constituents of blood which 1s a positively charged sol

71550513260, Cl 1ons cause coagulation of blood.

71550513261 . Fe’™ ions coagulate blood which is a negatively charged sol.

71550513267 Dlood absorbs FeCl; and forms a complex.

Question Number : 63 Question Id : 7155054194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
¥ad 91d Ab- & 00 BiRE FaRISS &1 g1 {601 Al & gdii:
Options :

1550513050 FeCl; Y6 Wil U U-dIRId Hiel 8, D 3aydi & 1Y fobal i g

21550513260 Cl™ 31T Jad &1 I g Hdl o |

21550513261 Feo o ¥ad, Ol U HBUNGRIE Iid 6. & “ha- Hidl ol

155051306, <00 FeCl; Bl RN B U e BT (HHI0 Hdl 7|

Question Number : 64 Question Id : 7155054195 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct order of metallic character 1s =

Options:

71550513263. k= Ca > Be

71550513264, Be = Ca= K

71550513265. K = Be = (Ca

71550513266. Ca = K > Be

Question Number : 64 Question Id : 7155054195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ufcdd T&U &l Yol HH o
Options:

71550513263, k= Ca > Be
71550513264, Be = Ca= Kk
71550513265. K = Be > Ca

71550513266. Ca = K = Be

Question Number : 65 Question Id : 7155054196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Gibbs energy vs T plot for the formation of oxides 15 given below.

= LV

T 200 +

-3 =

*of (.

400 =

A

(KJ ' mol) —500) =

600 + _—

—% (M)

O°C 2000 4000 600° 8007 1000°1200°1400°
T - >

For the given diagram, the correct statement 1s -

Options:

71550513267, At 600 C, C can reduce FeO

71550513268 At 600 'C, C can reduce ZnO

71550513269. At 600 'C, CO can reduce ZnO

71550513270 At 600 “C, CO cannot reduce FeO

Question Number : 65 Question Id : 7155054196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HiFE s & HHI0r gd el 391 v T &1 A1% A1 a1 71 &:

=] (M)} ==

T 200 =

—300 ==

O of (),

G
e
S
\

(k] "mol) —500) -

600 4 _-

— 8N -

—t—t—F—
2000 400° 600° 800° 1000°1200°1400°

O°C

T —>

== feu 7Y o= 8, 9ol U B

Options:

21550513267, 600 “C U, C FeO i 39dild &= J&dl &

21550513268 600 °C O, C ZnO B ATIRId B3 I&Hhdl o

21550513269, 600 C UR, CO ZnO B 3UHd HR IHdl o

21550513270, 600 °C T, CO FeO &l HUFM0d &3 I&dl o

Question Number : 66 Question Id : 7155054197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements: one 15 labelled as Assertion A and the other 1
labelled as Reason R

Assertion A : Physical properties of 1sotopes of hydrogen are different.
Reason R : Mass difference between 1sotopes of hydrogen 1s very large.

In the light ot the above statements. choose the correct answer from the options
aiven below:

Options:

71550513271 Both A and R are true and R 1s the correct explanation of A
71550513272 Both A and R are true but R 1s NOT the correct explanation of A

71550513273. A 1s truc but R 1s false

71550513274. A 1z false but R 1s true

Question Number : 66 Question Id : 7155054197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
- gl HY ST U 8, U Bl HUDHYT A Ud g Bl HRUIR Hgl T g |

HTYBYT A : BESIo- & D] b Hifdd 701 {4 Bld B |
BHRUIR : TISgo & GHTHSD] & goddqH | 3R §g5d <UD B
3utad Byl & Je=l d, g U MU fasedi § 9 el 3 g

Options:

41550513271 A WA R 3 9ol o a4l A @l Yol ARATR ©

[y

21550513272 A Ud R &1 ol 6 94l A & Yol ARATR ol ©

1550513273, A Bl e IRJRTTCId &

a
&collegedumaa
India’s largest Student Review Platform

S



1550513274, ATTAd e RJR el &

Question Number : 67 Question Id : 7155054198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of water molecules in washing soda and soda ash respectively are:
Options:

71550513275. 10 and 1
71550513276. 1 and 10
71550513277. 10 and O

71550513278. 1 and 0

Question Number : 67 Question Id : 7155054198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2Ta- IS Ud His1 U 8 oid & (U3 &1 G=1 §. HH::

Options :

71550513275, 10 Ud 1

71550513276. 1 Y4 10

71550513277, 10 U4 0
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71550513278, 1 €d 0

Question Number : 68 Question Id : 7155054199 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15
labelled as Reason R
s IR

Assertion A : The energv required to form Mg from Mg 1s much higher than that
required to produce Mg

T . e
Reason R : Mg~ 1s small 1on and carry more charge than Mg
In the light of the above statements. choose the correcr answer from the options
given below.

Options :

71550513279 DBoth A and R are true and R 1s the correct explanation of A
71550513280 DBoth A and R are true but R 1s NOT the correct explanation of A

71550513281. A 15 true but R 15 false

71550513282. A 1s false but R 1s true

Question Number : 68 Question Id : 7155054199 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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-Id &l By U U &, UP &l AUBYA A Ud g8 &I HRUIR el T &
TUTYT A : Mg T Mg?™ &1 H 3HGR0d I, Mg g1 i a1 4, BIH]
SECS

PRI R : Mo BITT AT Ol Me™ I AP 19 @1 T |

S D YR 1, A ST MU fdb el § F Fel IR I

Options:

71550513279, ATd R &I Jol g a4l A Hl gl IRATR ©

71550513280, A Ud R &IFI Ual & dul A & Yol URHATR Fel &

71550513281, A T6l 8 TG R TTaI &

71550513282, ATTA 8 R Tel §

Question Number : 69 Question Id : 7155054200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order of the number of unpaired electrons in the given complexes 1s

A. [Fe (CN)g]*
[Fe Fgl™
[CoFgJ"

[Cr (oxalate); ]
[Ni (CO),]

o[ S e R

Choose the correct answer from the options given below:
Options:

71550513283. E<A<B<D<C

71550513284. A<E<D<C<B
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71550513285. E<A<D<C<B

71550513286. A<E<C<B<D

Question Number : 69 Question Id : 7155054200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T U Hpall § SId sadc i &1 9390 &1 Hel 4 o:

A. [Fe (CN)g]>
[FeF¢]

. [Co Fg]*

Cr (oxalate); ]
[Ni (CO),]

-1 ST U [ddedl ¥ 9 Tel SR I4:

Options :

Mg 0 o

71550513283. E<A<B<D<C

71550513284. A<E=D=C=DB

71550513285. E<A<D<C =B

A
-

71550513286. A<E =<C <D

Question Number : 70 Question Id : 7155054201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Match List I wath List I

LISTI LIST II
Complex Crystal Field splitting energy (Ay)

Choose the correct answer trom the options given below:
Options :
71550513287, A-1V, B-I, C-11, D-III

71550513288, A-LlL. B-IV, C-I, D-III

71550513289, A-LV, B-1, C-III, D-II

71550513290, A-II, B-IV, C-III, D-I

Question Number : 70 Question Id : 7155054201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 o= gt i 8 &y

= f[eu U faedl O 9 Tel 3R I4:
Options:
71550513287, A-IV, B-1, C-II, D-III
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71550513288, A-ll, B-IV, C-I, D-III
71550513289 A-IV, B-1. C-I1I, D-II

71550513290, A-IL, B-IV, C-III, D-I

Question Number : 71 Question Id : 7155054202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The delicate balance of CO, and O, 1s NOT disturbed by

Options:

71550513291, Burning of Coal

71550513292 DBurning of petroleum

71550513293. Deforestation

71550513294, Respiration

Question Number : 71 Question Id : 7155054202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CO, Td O, BT AM® Hqod THIidd Tg] sidl 6-

Options:

71550513291, ®Igc] &I WledH I
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71550513293, 941 d] dled I

71550513294, 499 9

Question Number : 72 Question Id : 7155054203 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In Carius tube, an organic compound 'X' 15 treated with sodium peroxide to form a
mineral acid 'Y'.

The solution of BaCl, 1s added to 'Y" to form a precipitate 'Z'. 'Z' 1s used for the

quantitative estimation of an extra element. "X' could be

Options:

71550513295, A nucleotide

71550513296. Methionine

71550513297, Cytosine

71550513298, Chloroxylenol

Question Number : 72 Question Id : 7155054203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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PRI AP H U DS TS X' B HIFSTH RIGHEs & FY 3T
B R TP Gl 3T 'Y W eldl 8 | 'Y W gidl g | 'Y H BaCl, &1 [deg

I TR U {48 'z §9d1 & | 'Z' &1 3Ug HARad d9d & IRdED AThar

O gldi gl 'X & 9%dl &:

Options:

71550513295, UP UGIHAICIZS

W s

71550513296, HUTS 3T

71550513297, SISC &M

71550513298, ARSI

Question Number : 73 Question Id : 7155054204 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The decreasing order of hydride attinity for tollowing carbocations 1s:

_|_
" |
CH;

+
Cetls _LT — CgHs
CeHs
+
CH,

.|_
p lP—C—

A

A

B

Choose the correct answer from the options given below:

Options:

715505127209 C.A. B. D

~
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71550513300. A. C. B. D

71550513301, A. C.D. B

71550513302. €. A. D. B

Question Number : 73 Question Id : 7155054204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MY BIaYATaA] & [oU 8IS a8 s UhiHe! &1 9edl %hH -

o=

5 CH= CH —ﬁf — CH;

CH,

, +
IC:&H:@ _? —Cehls
CcH
65
-+
| |
CH,

_I.
b >—C =
A

59 e T et B Q4 T8 SR

Options:

B

C

71550513299, C. A, B. D

71550513300. A. C. B. D

71550513301. A:. C.D. B
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71550513302. C.A. D. B

Question Number : 74 Question Id : 7155054205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major product 'P' tormed in the given reaction i1s:

CH,0 Cl
anhy
. EP-'J'
AlCL (major)
0,N
Options:
CH,0
0,N
71550513303. CH,
71550513304,
CH, CH,
L‘nﬁr}ww:l\(,i ~ ‘ N()
|: |
oN’ . =~ oen
71550513305, CH, CH,
CH,0
71550513306, 2 CH;
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Question Number : 74 Question Id : 7155054205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
[ U SHHfehar § 4 31 P 6:

CH,0

0, N

Options:

71550513303.

71550513304, 2N

CH, CH,
i

L']lﬁr}%\( P P Im: X%

t-JEN m-'”
71550513305. CH, Cl

CH,0
71550513306, 2 CH,

Hlﬂl}f
AlCI,

i‘p‘!
(major)

~

S
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Question Number : 75 Question Id : 7155054206 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Incorrect method of preparation for alcohols from the following 1s:
Options:

71550513307 Hydroboration-oxidation of alkene.

71550513308 Reaction of Ketone with RMgBr followed by hydrolysis.

71550513309 Ozonolysis of alkene.

71550513310 Reaction of alkyl halide with aqueous NaOH.

Question Number : 75 Question Id : 7155054206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
5 & I &1 Uedigial & AN &1 7erd fafd g2

Options:

71550513307. Ueh [ BT §I5 g IGRTH- AR HU

1550513308 PICH I RMgBr & H1Y [ohdT dgURId Od 3{Udc

21550513309 Ued i B STl

1550513310 WP 6UI5S I g NaOH & 1Y fobar
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Question Number : 76 Question Id : 7155054207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order for acidity of the tollowing hydroxyl compound 1s :

A CH_}UH
B. (CH:}_ )1 COH

D. Me0— — OH

E.O,N — OH

Choose the correct answer trom the options given below:
Options:

71550513311. E=C=D>A>=5E
71550513312. E=D>C>B>A
71550513313. D=E=>=C>A>EB

71550513314. C=E=D>=B>=A

Question Number : 76 Question Id : 7155054207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Y glgaliagd difTe] & feTu o dl & Yol %HH &:

A. C‘HEDH
B. (CHB)} COH

-1 14U 77T fadhedl H ¥ el IR I+:

Options:

71550513311. E=C=D>A>B
71550513312. E=D>C>B>=A
71550513313. D=E>=C>=A>EB

71550513314. C=E>=D>B>A

Question Number : 77 Question Id : 7155054208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the reaction given below ;

O

KN (i) LiAIH,

0O (ii) H,O"

} EX?

The product 'X' 1s :
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71550513315. OH
Hﬂ.N/\W/U\T/\

71550513316, - Ol
H,N

71550513317. OH

OH

71550513318, ~ OH

Question Number : 77 Question Id : 7155054208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i <l ﬂ‘% JtHTehar |

O
|
FigNC - (i) LiAlH, _
o . _ % LX‘!
O (11) H30+
3dIg X' &
Options:
OH
71550513315. OH
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H1NA1)\/\

71550513316, OH

H,N
/1550513317.

OH

H.,I"{/L\/\/\

71550513318, - OlL

Question Number : 78 Question Id : 7155054209 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Buna-S can be represented as:
Options :

C H.
. I 1 : re

_E'IL - CH = C—CH = CH —CH, -1

71550513319, L - =

Iilli‘l‘l-l-."[.q
]

Cll-—CH=CH—CH=C—CH-
) ":]n

71550513320. _E

Clhls

- | =
— CH = CH — CH = CH — CH —CH, =—

71550513321, — —In

‘i'rﬂﬁ
-t~ CH,— CH = CH — CH.— CH — CH, -~
/1550513322, - —

~
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Question Number : 78 Question Id : 7155054209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&gA1-S B Froiud fear o Jadl 6:

Options:
a:.l“ﬁl-a_;
=|CH;~ CH = C=CH = CH = CH; =—
71550513319, L ~ "n
CH.
———
—-Eru?_.— CH = CH — CH = C—CH,
71550513320. I
"T'r.“:'e
L CH=CH—=CH=CH = CH HE‘I[,l
71550513321, - “—In
Colls
21650513397 L CHe— CH = CH —CH,— CH—CH, -~

Question Number : 79 Question Id : 7155054210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The reaction used for preparation of soap from fat 1s
Options:

71550513323, an addifion reaction

71550513324 alkaline hydrolysis reaction

71550513325. an oxidation reaction

TJ1CENE122764 vadiinatian veantind
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Question Number : 79 Question Id : 7155054210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
a1 9 g &1 Fafor sfifpar 8, ue -

Options:

71550513323, ANTTHS A Ylchal

21550513324, &R Aa{g94 AHdar

71550513325, STFHImR0] 3[H[dhdl

71550513326, U940 AYichdl

Question Number : 80 Question Id : 7155054211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 15 labelled as

Reason R

Assertion A - 3.1500¢g of hydrated oxalic acid dissolved in water to make 250.0 mL solution
will result 1n 0.1 M oxalic acid solution.

Reason R : Molar mass of hydrated oxalicacid 15 116 g mal"!

In the light of the above statements, choose the correct answer from the options given below:

Options:

71550513327, Both A and R are true and R 1s the comrect explanation of A

71550513328 Both A and R are true but K 15 NOT the correct explanation of A
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71550513329. A 1s true but R 15 false

71550513330. A 1s false but K 1s true

Question Number : 80 Question Id : 7155054211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
I T YA [GUTTE 8. U & DY A Ud T Bl HRUTR o/ T B

B

HTHFYT A - 3.15002 BZSCS (SId Tiford) HIFHIH 3K DI ol J 9T 250.0 mL
[daa- 0.1 M JHlaaieis 3 fgad- Ui g3

HRUIR - TS 5c e HIRITCd 3% BT HITH Fo4HMH 126 g mol-! B
Suded Dyl & HeH d, A fdu v fdsedl § 9 el 3R 9T

Options:

71550513327, AUd R GHI 9gl & dUT A &1 95l AT R &

21550513328, ATUd R GHI Ug! & 94T A &1 Gel URATR T8l &

71550513329, A U6l 8 g RTAd &

71550513330, AT & UEJR ¥ol &

Chemistry Section B

Section Id : 715505258

Section Number: 6
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Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response :

Maximum Instruction Time :
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Question Number : 81 Question Id : 7155054212 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
n+l
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The electron in the n™ orbit of Li*™ is exeited to (n + 1) orbit using the radiation of energy 1.47 % 1071 T (as

shown it the diagram). The value of n 15

Given: Ry =218 x 1077

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 81 Question Id : 7155054212 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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faI T : Ryy=2.18 x 10718 T
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054213 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of molecules from the following which contain only two lone pair of
electrons 1s

H,O,N,.CO, XeF,.NH;,NO, CO,.F,
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :
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Question Number : 82 Question Id : 7155054213 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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H,O,N,,CO, XeF,,NH;,.NO,CO, . F,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155054214 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of endothermic process/es trom the following 1s

AT (g)—2I(g)

B. HCl(g) — H(g) + Cl(g)

C. H,0(l) — H,0(g)

D. C(s) + O; (g) — CO; (g)

E. Dissolution of ammonium chlonde i water

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Question Number : 83 Question Id : 7155054214 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19§ Iy ufchgrdl &1 §we B

A. T, (g) — 21 (g)

B. HCl (g) — H(g) + Cl(g
C. H,O(I) — H,0(g)

D. C(s) + O, (g) — CO, (g)

E. 3HIHTH FRGS B 5d J gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 84 Question Id : 7155054215 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An aqueous solution of volume 300 cm” contains 0.63 g of protein. The osmotic
pressure of the solution at 300 K 15 1.29 mbar. The molar mass of the protein 15

g mol ™!

Given: R = 0.083 L bar K™} mol™!

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 84 Question Id : 7155054215 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STeitd [derd & 300 em® AT H 0.63 ¢ WEH SUMRRUA 81 300 K WR [dag- &
ORTERUT GT4 1.29 mbar & | WICT &1 AI0R S0 g mol !

feOT T8 R = 0.083 L bar K~! mol!

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 85 Question Id : 7155054216 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Alg)=12B(g)+C(g)

For the given reaction, if the imtial pressure 15 450 mm Hg and the pressure at time t 15 720 mm Hg at a
constant temperature T and constant volume V. The fraction of A(g) decomposed under these conditions

is x % 107%, The value of x is (nearest mteger)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 85 Question Id : 7155054216 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Alg)=2B(g)+C(g)

[GU T 3ffHfehar & foTe, aig URME® 319 450 mm He § 9T T9Y t R @R
a9 T U fRR 3@ V R 919 720 mm He © | SUd =3l § faufed
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :
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Question Number : 86 Question Id : 7155054217 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1

The specific conductance of 0.0025 M acetic acid is 5 % 10 S em ™! at a certain

temperature. The dissociation constant of acetic acid 1s x 1077,
(Nearest integer)

Consider limiting molar conductivity of CH;COOH as 400 S em* mol ™
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U U 70 0= IRY 0.0025 M TR 3id &t Iraddr 5 < 100° S em™! €
tHife® 3 &1 fagioq ke « 107, (MPedd quiie o)

CH,COOH @I HMHTd HITR IIA®dl DI 400 S ecm” mol™! AM

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 87 Question Id : 7155054218 Question Type : SA Calculator

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of incorrect statement's from the following 1s

A, The succeszive half lives of zero order reactions decreases with time.
B. A substance appearing as reactant in the chemical equation may not atfect the
rate of reaction

C. Order and molecularity of a chemical reaction can be a fractional number

D. The rate constant units of zero and second order reaction are mol L 7! and

mol™ L s7! respectively
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 87 Question Id : 7155054218 Question Type : SA Calculator : None
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Correct Marks : 4 Wrong Marks : 1
EEEEENTEAIEE AR tcl

A. DI @1 SAURHT & {70 FTRIWR A BIe FHY & Y ¥edl g _
B. YA YR H {48 Tl SUPRS 3Hiufehal &1 3T Bl YuIidd el Y g 5|
C. F‘%ﬁwu%aﬁiﬁﬁmaﬂaﬁﬁt{aa{ﬂw AUl & Hbel 5 |

D. Y0 $If¢ Ug fedia Bife $i aiiHfdhar o1 o7 fRRIS HHL: mol L1 7! U mol 1L ¢! G|

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 88 Question Id : 7155054219 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The difterence in the oxidation state of Xe between the oxidised product of Xe
formed on complete hydrolysis of XeF, and XeF 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 88 Question Id : 7155054219 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 89 Question Id : 7155054220 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a metal 1on, the calculated magnetic moment 15 4.90 BM. This metal 1on has
number of unpaired electrons,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 7155054220 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 90 Question Id : 7155054221 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In alkaline medium. the reduction of permanganate amion involves a eain of
electrons,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 90 Question Id : 7155054221 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT HTeOH 1, RETHE HBUEH & 099 & aRIF Soigeld W
CASIGE

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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